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Introduction

The term well-being is used in philosophy to describe 
everything that is in itself good for someone.Popular use of the 
term ‘well-being’ usually relates to health. Well-being is a 
sustainable condition that allows the individual or population to 
develop and thrive.  Well-being has been linked to success at 
professional, personal, and interpersonal levels.

Gender is an important social determinant of health and 
gender-based analysis is necessary to improve women’s and 
men’s health and health care. 

The main goal of this study is to identify explanatory factors for 
general well-being and the relationship of some variables to 
this factor. 



Abstract

The purpose of this study was to assess people's general well-being using the database ‘Base 
de dados’ (BD). BD is a database consisting of 45 variables, these are examples of variables 
that I used in my work: sex, age, social support, optimism, practice of physical exercise and 
general well-being. Data from 158 people were entered into the database, of which 54 (34.2%) 
were men and 104 (65.8%) were women. The mean age of the study sample was 24.96 years. 
Statistical analysis was performed using SPSS version 25 statistical software.



Work progress

Hypotheses I chose to test:

● H1: The general well-being differs between sex.
● H2: The general well-being varies with practice of physical exercise.
● H3: Verify if the sex, age, optimism and social support are predictors of general 

well-being.



Hypothesis 1



Hypothesis 2

X1 - general well-being of individuals who never practice in sports

X2 - general well-being of people who practice more than 3 times a week

X3 - general well-being of people who practice less than 3 times a week
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Hypothesis 3

Let Y (dependent variable) = general well-being
X1 = optimism
X2 = age
X3 = social support
X4 = Sex1









Y = 16,085 + 1,291x1 - 0,134x2 - 0,10x3 + 3,528x4



Thank you for your attention!


